°  Professiond PROFESSIONAL EXAMINATION BOARD
@bexominotion Police Constable Recruitment Test - 2017
board 19th Aug 2017 03:00PM

Topic:- General Knowledge and Logical Knowledge

1) Find the next expression in the series: / mﬁ eﬂﬁﬂ'c{ﬁmﬁﬁm
ABZ, ABBYZ, ABBBXYZ, ?

1. ABBBBBBBYZ
2. ABBBBBBXYZ
3. ABBBBVWXYZ

4. ABBBBWXYZ

Correct Answer :-

« ABBBBWXYZ

2) If VIRUS is coded WISVT, then how is BACTERIA coded? / Tfe¢ VIRUS DY wisvT I difed fooar wirar g, ot

BACTERIA B &8 SIS fvar w2
1. ABDUFSJB
2. CBDUFTIB
3. CBDVFSJB

4. CBDUFSIB

Correct Answer :-

e CBDUFSIB

3) A bag contains 5 black and 6 white balls; two balls are drawn at random. What is the probability that the balls

drawn arewhite?/w%ﬁsméﬁTGmﬂ%gﬁ?Wﬁ@ﬁﬂ%WWﬁmw%3'\‘!3?[
T Wi g fob feprell 718 91 Tt &2

10

L 11



3. 11
3
11
4,

Correct Answer :-

4) In which year did India not fight a war with Pakistan? / o ad § yRa A nifewaq & Ty & Tl dsT?
1. 1950
2. 1965
3. 1947

4. 1971

Correct Answer :-

» 1950

5) How many States are there in the Indian Union? / HRAI 99 ¥ foda 39 %'?
1.28
2.29
3.27

4. 30

Correct Answer :-

6) Which act drastically redrew the boundaries of states and territories in India, organizing them along linguistic

n_nes?/E&ﬁ‘ﬂﬁﬂﬂ%%%?@eﬁ?aﬁaﬂwﬂmﬁaﬁwwﬁww, TS Farsit & |1y I

1. States Reordering Act, 1959 / T hHIARUT &@ﬁ?m, 1959
2. States Reordering Act, 1963 / 1o ShHIARUI &rfﬁrﬁm-'l, 1963
3. States Redrawing Act, 1957 / o8 G- 3{RQUT ST, 1957
4. States Reorganization Act, 1956 /Y TFTB_*T fdfe , 1956

Correct Answer :-



« States Reorganization Act, 1956 / JsT A& SHTATH, 1956

7) Which team won the Vijay Hazare Trophy 2016-17? / 2016-17 ¥ fa=ra goIi¥ erw! fra= siidi?
1. Mumbai /HTYI'&F
2. Tamil Nadu / df8e g

3. Bengal / SRTTST

4. Baroda / ag_ [+

Correct Answer :-

« Tamil Nadu / diHd ATg

8) Which one of the following organizations was started by Jyotirao Phule in 1873? / 1873 A fFafrfRadd s

TS BT ARY FRTa Poi A fpar ur?
1. Satyashodhak Samaj / AN THTST

2. Bahujan Samaj / dgol- HHIS

3. Justice Party / Sifeeq uref

4. Prarthana Samaj / PINEIRSEI]

Correct Answer :-

« Satyashodhak Samaj / TARNYDH FHISI

9) Which of the following is considered to be the first supercomputer developed in India? / Froafafea a3 fea
YR PR Bt YRd § UYH e Ria gom umr mar 82

1. SAHASRA T / IgTIRT &1
2. SAGA 220/ 91T 220
3. PARAM YUVA II /TRA AT ||

4. PARAM 8000 / UXH 8000

Correct Answer :-
« PARAM 8000 /UIH 8000

10) Which of the following districts is known for production of opium? / Frafafaa el § <9 a1 s CRUIGE]
% forg ST wiran g2

1. Sheopur/ @'ER
2. Mandsaur / IIE@?

3. Shivpuri / FRIGGRY



4, Sidhi / Ty

Correct Answer :-

¢ Mandsaur / IIE@T

11) Which of these was the last European country to rule Goa? / E:F}I T a1 UR RIA HR arer Sifad q:\ﬁtﬁu
TP AU

1. Netherlands / = 3?(5’1.3
2. England / 3'@_6'
3. Portugal / ‘EI,?‘:‘TIT“[

4. France / 19

Correct Answer :-

 Portugal / W

12) Which of these cities was known as Prayag in ancient times? / U g9y | E:Tﬁ R kaC T e Udan & A
T ST ST T2

1. Kannuauj / HA
2. Jabalpur / SIS@YR
3. Varanasi / JRTORH
4. Allahabad / gqllgldlG

Correct Answer :-

« Allahabad / SAI8IdIg

13) The Bansagar Dam is named after / STOTANR S7¢ TH 3‘&%3 SR I @ T4T:
1. Banusagar / HIJI'R

2. Sagar Samrat / IR THIC

3. Bana Batta / S0l Hg

4. Bana Rao / dIUIT 1T

Correct Answer :-

 Bana Batta / §0T Hg

14) Who was the first Chief Justice of the Madhya Pradesh High Court? / & USRI I AT BT Ugdl &1
=i B A2

1. Justice A M Khanwilkar / T T TH WIf-ged
_ (5)



2. Justice P.V. Dixit / =aragfc tt.at iféra

3. Justice M Hidayatullah / <IRHfd T feroeams
4. Justice G.P. Bhut / <IRH[d ft. . Ye

Correct Answer :-

« Justice M Hidayatullah / =IRHfcl TH ggreems

15) Who was the finance minister during the 1991 economic reforms? / 1991 & e ﬁﬂﬁa? R fa w=h
B &2

1. Manmohan Singh / e i

2. PV Narasimha Rao / U1 d1. TRRig 314

3. R. K. Shanmukham Chetty / W%Wa@
4. R. Venkataraman / 3R, d&He<a"

Correct Answer :-

* Manmohan Singh / Taed Rig

16) Who was the author of Rajatarangini? / ATV S AP i A2

1. Surdas / YN
2. Sudraka / q[gP
3. Kalhana / g Ul
4. Kalpaka / cUd

Correct Answer :-

« Kalhana / ®egUl

17) The full term of a Lok Sabhais___ ./ ASIUT BT T CIUEa] T Eﬁ_clT %l
1. 6 years/ 6 CL

2. 5years/5 CL

3. 7years/7 CLY

4. 8 years / 8 CL

Correct Answer :-

. Syears/Sa'Ef

18)



Fort William is located in Kolkata on the banks of the river / wId faferad dlaeTar A :Iiﬂ ® W R
81

1. Hooghly / §Tlfﬁ
2. Yamuna / g1

3. Brahmaputra / SSgTq"

4. Ganga / T

Correct Answer :-

» Hooghly / E‘la

19) The civil disobedience movement was started in / RITIe a3 Sriga=T PIL forar T o :
1. 1942

2.1914

3.1928

4. 1930

Correct Answer :-

» 1930

20) The ninth Guru of the Sikhs was / @l & id R g
1. Guru Arjan Dev / [& 3{\_3;'_‘[%3

2. Guru Gobind Singh / T Tifsg Rig

3. Guru Amar Das / IR 3[HY g

4. Guru Tegh Bahadur / [& Gl gglgY

Correct Answer :-

» Guru Tegh Bahadur / = Gl dglgY

21) The number of Gold medals that India won at the Incheon Asian games 2014 is /WHQ'&WI% Qe 2014 °

HR GRT St 7T waof gt 31 W §:
1. 12
2. 10
3. 11

4.9

Correct Answer :-



22) Who became the Chief Minister of Madhya Pradesh after Uma Bharathi? / 3HT YR & mﬁq me%
=T 1At 917

1. Digvijay Singh / %ﬁﬁmﬁ‘s’

2. Shivraj Singh Chouhan / fRrerret Rig Eﬁ's’ﬁ
3. Babulal Gaur / dldefle] R

4. Kailash Joshi / SelT=1 SRt

Correct Answer :-

 Babulal Gaur / gl TR

23) Geographically, the smallest state of India is___/ {1l ¥U Y, YRA ST ITA BICTIT R
1. Sikkim / RifapH

2. Goa /T3

3. Assam / 3THH

4. Kerala / R

Correct Answer :-

. Goa/T3M

24) Complete the series choosing the missing number: / & IBAT FADR AT B TRT PioIC:
1, 64,343,1000,

1. 4739

2. None of the above /E:Iﬁﬁa)ll"&;:l—sﬁ

3. 2197

4. 6391

Correct Answer :-

e 2197

25) Complete the series choosing the missing number: / Yo TR FAB YGAT B GRT BIFOIC:
3, 15, 63, 255, 1023,

1. 4095

2. 4030



3. 4600

4. 4505

Correct Answer :-

* 4095

26) Complete the series choosing the missing number: / & ST gD mﬁ Wﬂﬁﬁiﬁ:
12,15,21,24,30

1.44

2.58

3.33

4, None of the above /Eﬁﬁﬁ%qﬁ

Correct Answer :-

« 33

27) Complete the series choosing the missing letter/s: [ AW &R/ 3H&RT Bt TADBR YT BT [T HITOT:
ab_b__aa__b__ba

1.b,a,3,a

2.3,b,a,a

3.b,b,b,b

4.3,3,93,a

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given: / 39 ICCaR U

PIRMT Siifp 2T T HYE! 3R el & IR & 98 @

Statements: / ®Y-:
All doors are windows / G} Sars fasfear &
All windows are handles / 91 f@sfdui g &

Conclusions: / fAepH:
I. All doors are handles / It WI@I E?) %
II. Some windows are doors / & RasiFHal vaw €

1. only conclusion Il follows / Had fspy | G@TUTWT%
2. only conclusion | follows /W sy | STFERUT Hdl %

©



3. neither conclusion | nor conclusion Il follows / = é)[ e | 3R T Eﬁ Ersadll IR A %
4, both conclusion | and Il foIIows/ﬁEb_ﬁf 1 3R 11 Al WW%

Correct Answer :-

e both conclusion | and Il follows /ﬁ'lﬁb_ﬁf | 3R I Al WW%

29) Select the option that is true about the Statements and Conclusions given: / 33 fa®ed &1 90+
PR Sifes T T YT 3R Frepul & R & 98 &:

Statements: / PY:
All dogs are cats / 94} = foeelt €
Some cats are rats / $© fawl I8 &

Conclusions: / fassd:

I. Some dogs are rats / $F ﬁ ?13 g
I1. Rats which are cats are not dogs / ij? o1 foeeht % ?,ﬁ Tcﬂ%

1. only conclusion Il follows / Had ﬁ'lﬁh_ﬁf Il ST Dl %

2. only conclusion | follows /W e | STFURUT h Il %

3. neither conclusion | nor conclusion Il follows / - fﬁ sy | GﬁT Gl 33[ Gl SITART A %
4, both conclusion | and Il follows /ﬁ'&b_ﬁf | 3R I ol WW%

Correct Answer :-

« neither conclusion | nor conclusion 1l follows / - ﬁﬁ'ﬁﬁﬁf 3R ﬁ sl SR GG %

30) Select the option that is true about the Statements and Conclusions given: / 39 e &1 Tg+

PIE S fb fAE T Sy 3R Frepuf & v § I8 @

Statements: / ®Y:
All lions are animals / I 2R ugr %
All tigers are animals / 9 19 Ug] &

Conclusions: / fAp:
I. All tigers are lions / T4 ST 2R &
I1. Some animals are not tigers / ©9 UY] dTY e

1. only conclusion Il follows / FHad =py || &WW%

2. only conclusion | follows /av_clﬂ ﬁ'ﬁﬂf | 3R] Dl %

3. neither conclusion | nor conclusion Il follows / - Ep[ ﬁw | GﬁTT{ éT ﬁ@ﬁf Il ST=RUT G| %
4. both conclusion | and Il follows/ﬁ'lﬁb_ﬁf | 3R ] aﬁ:ﬁ &WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /- é? fspy | 3R T 3)[ ey 1| SR B %



31) The series given below contains a sequence of numbers. Identify the incorrect combination: / LIE]
3 1S e §, Twmsil &1 U HH SRR § | Tad Jaie Ugen=ie:

56, 54, 58, 49, 66, 34

1. 66

2.34

3. 49

4. 58

Correct Answer :-

. 49

32) If MAILis coded KYGJ, then how is LETTER coded ? /af¢ MAIL S KYGJ | Hifsd a1 Sar g, &Y
LETTER &} S8 P Sd fpar SIR?

1. NGTTTG
2. NGTTGT
3. JCRRCP

4. JCRRPC

Correct Answer :-
* JCRRCP

33) What is the value of x and y when, 43x567 + 53y26 = 489993? / SId 43x567 + 53y26 = 489993 Gl
x 3R y &1 A =1 82

1. 4,4
2.9,8
3.6,4

4.4,6

Correct Answer :-

34) If CALCULATOR is coded UJSUOSIGVM, CHECK is coded UKWUA, then how is CORRECT coded? / i
CALCULATOR ! UISUOSIGVM &, CHECK FT UKWUA ¥ HIfed forar St @, 91 CORRECT &1 9 sifed fpar
STRTT?

1. UKWGVMO
2. UOSSEUT

3. UISUWUA

(11)



4. UVMMWUG

Correct Answer :-

« UVMMWUG

35) Find the odd one out: / T fAuH 19 Hiferg:
17, 19, 23, 29, 36,40

1. 40
2. 36
3.19

4. 29

Correct Answer :-

e 36

36) Find the odd one out: / U& fauw JTd Siforg:
1. Bag and Baggage / AT 3R I

2. Pen and Pencil / dH GﬁTﬁﬁlﬂ

3. Kith and Kin /W‘éﬁ 3R UReH

4, Bread and Bu’tter/@i_ér GﬁTII?IFEFf

Correct Answer :-
e Pen and Pencil / P H aﬁ?ﬁrﬁfm

37) In a certain language dim dam dolpet means fish is tasty and brim crim dim means very tasty food . Then
in that language the word dim is used for: / T W IS HTHT 'ef, dim dam dolpet b1 3 fish is tasty\"rﬁ? brim
crim dim @1 Y very tasty food BIdT €| $H DI HINT H dim & 1T T e &1 sxawTel fooar Tar 82

1. tasty

2. food

3.is

4. fish

Correct Answer :-

o tasty

38) In a certain code language, hutch tel bsnl means all network busy, bsnl idea oasis means busy with work,
tel bpl orange means network not there. Which is the word for Autchin that code language? / Tdh ©TH BIS

(12)



CIE 'ef, hutch tel bsnl 1 Y all network busy, bsnl idea oasis 1 3 f busy with work, tel bpl orange T 31 f
network not there YA &1 59 IS U H hutch & TN 59 e o1 sTHTA a1 70T 82

1. network
2. work
3.all

4. busy

Correct Answer :-

o all

39) Select the option that is true about the Statements and Conclusions given: / 39 fopey &1 9uq Gﬂﬁl‘E Ell

o T T By 3R syl & o # W) &:

Statements: /| ®Y:
Some boys are engineers / Y as% sTrﬂﬁW %
Ravi is an engineer / I[d T® SR &

Conclusions: / fred:
I. Some engineers are boys /| $© Eiﬁﬁ'q?' FIS% %
II. Some boys are not engineers /| P 'cﬁi% Eﬁﬁﬁ'q'{ H’éﬁ%

1. only conclusion Il follows / Had F=py | STTHRUT hdl %

2. only conclusion | follows /W ﬁ'ﬁﬁﬁf | SFIRU] Pl %

3. neither conclusion | nor conclusion Il follows / - éﬁ%ﬂﬂﬂf ] 3ﬁ? Gl ﬁ sl IR0 A %
4. both conclusion | and Il foIIows/ﬁEb_ﬁfl 3R NI g G@TUTW%

Correct Answer :-

« only conclusion | follows /W ey | SR Dl %

40) The series given below contains a sequence of humbers. Identify the incorrect combination: / EiE] i} TI'§
siRae o, TRSISH BT TH HH IUTRIT & | Tad JaToi Ugani~g:

3,7,15, 30, 63

1.3

2.30

3.63

4. 15

Correct Answer :-

e 30

Topic:- Mental Ability and Mental Aptitude
(13)



1) Ifthe following two squares shown below overlap, which one of the following options is formed? / fe

e & a9 afdenog B §.dr e & @ &9 97 tF A%eq daadr &7

[

4.

Correct Answer :-

2) In the sequence shown below, which figure comes next? A= ﬁ?‘f IR HH H, 3ATRIT 311'05% i °r
HREEI?

(14)



4.

Correct Answer :-

Which one of the following four addresses is NOT EXACTLY same as the one given below? /ﬁ'ﬁ'-_rf EQT EIEEGIES
Odt F ¥ JAF B W 9T & 8F TAE HiT 9T UF T8 87

Sheikh viohammed Bin Zayed

#121 /122, Road(E 311)

JebelAliFree Zone,

P.0.Box 17846 Dubai— United Arab Emirates

(i) Sheikh Mohammed Bin Zayed

#121 /122, Road (E311)
JebelAli Free Zone,
P.0.Box 17846 Dubai— United Arab Emirates

(i) sheikhMohammed BinZayed

#121 /122, Road (E 311}
Jebel AliFree Zone,
P.0.Box17846 Dubai— United Arab Emirates

(iii) Sheikh Mohammed Bin Zayed

#121 /122, Road (E 311}
Jebel AliFree Zone,
P.0.Box 17846 Dubai— United Arab Emirates

(iv) SheikhMohammed BinZayed

#121 /122, Koad (E 311}
lebelAliFree Zone,
P.0.Box 17846 Dubai— United Arab Emirates

(15)



4, iii
Correct Answer :-

° iv

4) In the sequence shown below, which figure comes next? JAR T3 TR A H, 39l 311'55% i °r

HEEIR

Al

4.

Correct Answer :-

(16)



5) The average of the first 8 multiples of 14 is: / 14 HYYI 8 gm"a?rm Gﬁ'\qﬁ'ﬁﬁ"ﬂ
1.72
2.45
3.63

4. 60

Correct Answer :-

* 63

6) Rs. 750 are divided among A, B and C in such a manner that A : B=5:2 and B: C =7 : 13, What is B’s share? /
750 TUT P A, B R CHASHUPR AT A8 fPA: B=5:2 3R B: C=7:13 g, B & foa vuu fada

1. Rs. 250 /250 24U
2. Rs. 200/ 200 24U
3. Rs. 260 /260 24U

4. Rs. 140/ 140 %4U¢

Correct Answer :-

e Rs. 140/ 140%4Y

7) How many litres of acid are there in 12 litres of a 20% solution? / 12 WeX & 20% ﬁmﬁﬁﬁﬁ%?ﬂa@g
g2

1. 1.2 litres / 1.2 dreY
2. 3.6 litre /3.6 Tex
3. 4.8 litres / 4.8 Tex

4, 2.4 litres [ 2.4 Tl

Correct Answer :-

e 2.4 litres [ 2.4 TIeX

8) If 3 tables and 2 chairs cost Rs. 215 and 2 tables and 3 chairs cost Rs. 250, then the total cost of 5 tables and 5

chairs will be: / Tfe 3 Aol 3fIR 2 RN BT Ye 215 TUA 3iR 2 Al iR 3 HRIA BT ged 250 TUA 1 Y 5 A=l

(17)



3R 5 piRiAl &1 gea ghm:
1. Rs. 500 / 500 ¥
2. Rs. 430/ 430 T0
3. Rs. 465 / 465 39U

4, Rs. 450 / 450 ST

Correct Answer :-

« Rs. 465 /465 ST

9) A shopkeeper bought 6 tonnes of wheat at Rs. 1.80 per kg and sold 4.7 tonnes out of it at rate of Rs. 2 per kg.
How much profit will he get if he sells the remaining quantity at Rs. 2.50 per kg? / T®h gHhTAGIR q6 E?ﬂ'ﬁ 1.80
FUA/ BT, BT X T W SR 4.7 &1 2 T/, oY o= A 99 Ry afe a5 A gu g 2.50 TR/ et ez @
94, it S foa=1m ey T ghme

1. Rs. 2600 / 2600 STT
2. Rs. 1600/ 1600 ST
3. Rs. 1850 / 1850 BT

4. Rs. 940 / 940 ST

Correct Answer :-

« Rs. 1850/ 1850 SO

10) If3A =4B=5C, then A:B: Cis: /TG 3A=4B=5C, WA : B: C ENI:
1.10:15:12
2.20:15:4
3.20:5:12

4.20:15:12

Correct Answer :-

e 20:15:12

11) After going 3/4t of my journey, I found that I have covered 16 km. How much journey is still left? / # 3ot

YT BT % YRT Ie1 W Ul § 16 79 16 fpaiies aa forar g1 snft gzt fra=t siiv g w1 82

| =

L] =

(18)



| =

[

W =

4.

Correct Answer :-

12) The ratio of the ages of a mother and daughter at present is 5 : 1. After 6 years, the ratio will become 3 : 1. Find
the present age of the daughter. / TAHI § TP AT 3R 91 B 3T BT U 5:1 8| 6 TS 916, I8 3JUTd 3:1 8
ST | 9 P qdq ST T 82

1.4
2.6
3.5

4.3

Correct Answer :-

13) The ratio of ages of X and Y is 6: 5. If the product of the ages of X and Y is 30, find the age of Y./ X AR Y B
3TY BT U 6:5 8 1 TS X 3R Y BT 3 BT UHEGS 30 3, @1 Y BT Mg fpa=1 82

1.6
2.7
3.5

4.3

Correct Answer :-

14) The rainfall in Assam has been declining by 1 % every year. What will be the percentage of increase in the

rainfall in 2001 over 2004? / 3FW § B arail aTiv=T # ufaat 19 &t w3t 81 7 81 2004 Tt g1 A 2001 & TET
e ufa=ma iftre arfvmr gt Aie

1.3.03%
2.2.67%
3.297%

4.3%
(19)



Correct Answer :-

. 3.03%

15) Ifx /4 =3, then the value of x is: / Tf& x/4=3, T x BT A =1 EIM:
1.2

2.1

3. 12

4.3

Correct Answer :-

16) If the radius of a sphere is increased by 50%, then the percentage increase in its surface area is: / ‘Cl'ﬁ't’ﬁ? e

1 P01 BT 50% T foam SITe df IHS &wa § fora % i gicx gRT:
1. 115%
2. 130%
3.120%

4. 125%

Correct Answer :-

o 125%

17) A rectangular tank of 10 m long and 5 m wide contains water upto a height of 2 m. How much area will have

wet surface? / T 10 HICT A 3R 5 HIeX TS SMAATPR ¢ | 2 Hiex HATS 9P UTHI HRT g1 P & M dd &1
aawd Pt gim?

1. 130 m2 / 13041.2
2. 110 m?/ 110412
3.120.5 m?/ 120%1.2
4.125m2 / 125412
Correct Answer :-

« 110 m2/ 110912

18) A number is such that the product of its digit is 12. When 36 is added to the number, the digits get reversed.
Find the number./ T BT & D1 BT YUFEH 12 §1 Al 30 T=ATH 36 TS a1 ST i 59 Sl & =M
TR 99 I1d & | 98 S gRft:

(20)



1.43
2.26
3.34

4. 62

Correct Answer :-
e 26

19) A car covers one-fourth of the distance at 25 kmph and the remaining distance at double the speed. If the total

time taken is 10 hrs, then find the total distance. /WWM@%WQ?U@%@@ZS feiig Ftaa A ag
FRel & 3R AW gt Y 3BT G AT A 99 Hedl 7| i I Fo U 10 U @ ) pa gat 5

1. 400 km / 400 Top .
2. 300 km / 300 fHHT
3. 200 km / 200 T HT.

4. 100 km / 100 oo,

Correct Answer :-
« 400 km / 400 f&H1.

20) In a1 km race, A beats B by 50 m or 5 secs. How long does A take to complete the race? / 1 ot Sty d A,B

B 50 WY, 3@ 5 V. | UBTS AT 81 A DI 39 T B H a1 7y avm?
1.97.5 secs / 97.5 9.

2. 100 secs / 100 ¥.

3. 95 secs / 95 9.

4.102.5 secs /102.5 .

Correct Answer :-

. 95secs /95 9.

21) A can complete a work in 8 days working 10 hours in a day and B can do the same in 12 days, working 8 hours
a day. If both are working together, working 6 hours a day, in how many days can they complete the work? / A

wfafed 10 9 HH F3d 5T fheht &0 31 8 37 & 132 Aar 8, B ufAfed 8 62 S Hd gUIHA FH & 12
o1 o QR % uTaT B afe A Ty e ufafee ¢ 68 o o @Y 3= S R A # fraen gwa dame

3 3
7—days / ?—iEFﬁ
11 Y 11

1 1
7 _days / 7T
11 4 11
2.
(21)



11
3.
5 5
7 days/ 7=
4 11 b llﬁq

Correct Answer :-

3 3
7 _days / 7T—Tca
11 Y 11

22) If Deepak's age will be thrice his present age in 17 years, how old will he be then? / gfe 17 919 ¥ dtue ot 3

I TATT SR B A T 81 SRR o ST adu S fhat 32
1. 52 years / 52 T
2. 51 years /51 T8
3. 50 years / 50 98

4, 53 years / 53 Gl

Correct Answer :-
e 51 years/51 Gl

23) The average age of 5 members is 21 years. If the age of youngest member be 5 years, find the average age of the

family at the birth of the youngest member. / Smﬁ G-ﬁ'\‘:l?f\?vﬂ'gn E'Gf%l uﬁﬂaﬁgﬁwaﬁ 3 5 aﬁ'%
@ T BIe TGH & o & THY URAR @ a3y o

1. 24 years / 24 Gl
2. 28 years / 28 Gl
3. 25 years /25 GL)

4,20 years / 20 EL)

Correct Answer :-
e 20 years /20 Gl

24) The age of a mother, ten years ago, was thrice the age of her daughter; and if ten years later, her age would be
twice the age of her daughter; then, find the ratio of their years at present / 10 atfqz:‘, wn‘faﬁ 3 ITPT g‘:ﬁﬁ
g F A T R R Al 10 T TG SHST S SHST G Y g B G B oY A TdHA § ST Oy
FT 3guTd =T 8

1. 6:5

2.4:3

(22)



3.94

4.7:3

Correct Answer :-

o 73

25) A grocer buys 5 eggs for Rs. 4 and sells at 4 of them for Rs. 5; find his percentage of gain or loss. / b TRy 5

S 4 T T Wledr § 3R ITH A 4 1S 5 TUA H 99 a1 31 S § T AT ATH HT UIA=Ta F1d BITT|

57-Y%loss / 5

L,
: q°

e |

5629 gain / 5605t
4 4

501% gain / 501%61T3T
4 4
3.

4, None of the above / é_rlﬁ I ﬁ'&c 71?[

Correct Answer :-

561?-*6 gain / 5619-‘BF{TBT
4 4

26) Find the average of the following numbers: 9, 99 and 999 /9, 99 3% 999 T 3fiTd ﬁﬂ:fg}m
1. 100
2.450
3.499

4. 369

Correct Answer :-
e 369

27) A stenographer typed 16,200 words on a given day. If she had typed for exactly 6 hours during the day, then
what will be her average speed of typing? / U TuTER A faredt U feq o 16,200 ez <IFU ﬁ?Q'l gfe dg
ufafeq ¢ G ersfthT St 81 9 ST! ergftin & sitwa wfa fora=h gnfte

1. 60 words per minute / 60 &g Ufdl [
2. 30 words per minute / 30 ¥sG Ufd fiT

3. 45 words per minute / 45 XsG Ufd fiH T
(23)



4. 40 words per minute / 40 ¥sg Ufd fiFe

Correct Answer :-

« 45 words per minute / 45 Xsg Ufd fAFe

28) A train covers a distance of 12 km in 10 min. If it takes 7 min to pass a pole, then the length of the train is / Y

amzigﬂﬁ.ﬁgﬂmﬁﬁ‘dﬁauaﬂ‘cﬁ%luﬁuﬁ@@ﬂ}aﬁmaﬂﬁ%ﬁ{ﬂemwﬁ?ﬁ%a‘raﬂaﬁ

1. 160 m / 160 HI.
2. 140 m/ 140 HY.
3.180 m/ 180 HY.

4,120 m/ 120 HI.

Correct Answer :-

« 140 m/ 140 ¥,

29) Find the average. /3faa e |
42,45, 48, 51, 54 & 60

1. 50

2.49

3.44

4.53

Correct Answer :-

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: EiE] a)f

TS sjRge ¥, 31&R) SR SwIel o1 ve wH Fifed &1 e Sae ygant:

i.zdfg2031fzdg
ii.zdfq2031fzdg
iii.zdfg2031fzdg
iv.zdfg2031fzdg
1. iii

2.iv

3.1l

(24)



4.1

Correct Answer :-
e ii

Topic:- Science and Simple Arithmetic
1
) The area of a square field is 101$m3. The length of the side of the field is: / Teh TATRR &1
T A 101 HIex? §1 &1F 6T golr T oS b

1.10.20 m/ 10.20 Hiex
2.50.52 m / 50.52 HIex
3.10.50 m/ 10.50 Hlex

4.10.05 m/ 10.05 Hicx

Correct Answer :-

+ 10.05m/ 10.05 Hiex

2)
Which of the following is NOT the reciprocal of (:;, y 62 /TFaToaa & O i (_Ef )8 T SYchA
8T &l




3)

Find the value of x satisfying the equ,a'[.ionﬂ = _:. /x T JF AT FL =1 & FHAROT

a—>b a+

x+b: x—b ﬁ'ﬂ_(f?m%l

a—b a+b

1.-b
2.-a
3.a

4.b

Correct Answer :-

AB and CD are two parallel lines. The transversal PQ cuts AB at Eand CD at F. If /AEP =,

£PEB =%, /DFQ = 3x, then the value of y is: / AB 3T CD & THATGR (W@ g 39T T@n
PQ, AB FI E T 3T CD & F 9T Fiedl gl Il ~AFP=v, ,PEB=x +,DFQ=3x, ol y ¥l

HieT E’:
b P
A B/ B
c ﬂ . D

1. 135°
2.140°
3.90

4.45

Correct Answer :-

(26)



155 X155 X155—55 X35 X55 _

155 X155+155 X354+55 X55
1. 120
2. 100

3.145

4.210

Correct Answer :-

- 100

6) Estrogen : ovary :: testosterone : / Q@'\?F-T: 3SR :: m :
1. testis / qUUT

2. thyroid / UTSRIZS

3. pituitary / W

4. adrenal B‘I'm?{cﬁ'/

Correct Answer :-

« testis / 9UUT

7) Use of disposable cups made of soft clay (kulhads) is discouraged because: / T%H ﬁrg"t ¥ faffa Faem
UG BY (Fegs]) I WedITed 8] [T SITdT § FiP:

1. These are unhygienic / T RGeS a?f %l
2. These are made of non-degradable substances / T A Wﬁﬁ CE| ?ﬁ% %I

3. Making them on large scale will result in loss of fertile top soil / 3% E]@ TR R SH ﬁl@ P ST SUSIS, URd
BT IR BT

4. The tea will not taste good / dTT & g 33( Tl Q%‘I |

Correct Answer :-

» Making them on large scale will result in loss of fertile top soil / 37 ER%' TR R I I ﬁl@ PSR SUSIS, TR
1 JHIH GHT|

8) A student fails by 50 marks when he gets 30% marks. Another student passes by 30 marks when he
gets 230 marks. Then which of the following is the total maximum marks? / U ST SId 30% 37 UTd
PAl © df 50 3BT I SRV 81 ST 8 1 TH 3= BT oF 230 3% YTed Hal & df 30 3l I S<of &t
ST 8 1 99 g & | B9 T 7 Hfrpad oiw 82

1. 450

(27)



2.550
3.500

4. 600

Correct Answer :-

- 500

9) The radius of a circle is 6 cm. The perpendicular distance from the center of the circle to the chord

v%vhich is 8 cm in length is: /Wﬁﬁﬁﬂsﬁ%l ﬁ%WﬁSﬁwﬁﬂﬂTWﬁww

4y/5cm / 45 TEY

2v'5 cm / 245 THET
2.

3.20m/2®1ﬁ
4.4cm/4@fﬁ

Correct Answer :-
235 cm /235 THT

10) The length of the longest chord of a circle of radius 10 cm is: / 10 I+ W%Wﬁaﬁiﬂ"ﬁﬂﬂ
<frar &1 TS &

1. lOcm/lO'\Eﬁ:ﬁ
2. 150m/15@1ﬁ
3.20 cm /20 94t

4,5cm /594!

Correct Answer :-

« 20 cm /20 9H

11) The probability that it will rain today is 0.55. What is the probability that it will not rain today? / 3Tl

uf gRft S Ui 0.55 21 SH! T Ui & {3 et auf =) gnfi?
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11

20
4,

Correct Answer :-

12) What will be the labour charges for digging a cuboid pit 8 m long, 6 m broad and 3 m deep at the rate

of Rs. 25 per m2? / 8 HeX @, 6 Wiex AIS 3N 3 Hiex M8 TP TATY T Fi 25 U Ufd He2 Ft o
A FleA & e 49 eb a1 gme

1. Rs. 4500 / 4500 ST
2. Rs. 2880 / 2880 ST
3. Rs. 4000 / 4000 3T

4. Rs. 3600 / 3600 3UA

Correct Answer :-

« Rs. 3600 / 3600 ST

13) What is the area of a circle inscribed in a square of area 288 cm?? / 288 A2 gorpd & it o Iapiol
TP I BT EAB A FT 82

1.36 "
2.144
3.228"
4. 727"

Correct Answer :-

14) Which organ is affected in the case of jaundice? / diferar 'B.ﬁf P =M # SI9 I1 3T yHIfAa B.WT %?

(29)



1. Liver / Upd
2. Heart/ §ad
3. Stomach / U€

4. Lungs / ﬁﬁcﬁé

Correct Answer :-

» Liver/ddhd

15) Which one of the following is likely to cause tsunami? / FfedafraTesa ﬁ:m:ﬁ B BT HUTSAT Bl 872
1. Lightning / fereTeft

2. Wind / dlg

3. Under water earthquakes / 31 IS YU
4. Snow / St

Correct Answer :-

« Under water earthquakes / S{ToTcl Yy

16) The process of waste water treatment is called: / SURY S SUTR $1 Ufshar o1 gl SIIdl %:
1. Desalination / [d@duA

2. Water pollution / S{e] HgHUT

3. Chlorination / FARIHIGRU]

4. Sewage treatment / HSId M

Correct Answer :-
» Sewage treatment / HGIT MWeA

17) When a person overeats, his tissue fills with fat. / STd ﬁémﬁ &R ticH @'I?IT%, SHDBT
P aIT Y WR ST el

1. adipose / CRi)
2. stomach /U<

3. skin / <l
4. muscle / ATIUR

Correct Answer :-

e adipose / CRip]



18) When alcohol burns in air, energy is liberated in the form WAL KCIE | Wﬁﬁ Qe hdl %, a
Sl & U gad gl 21

1. heat and light / 3 SHT TUT USRI
2. heat only / Had ST
3. light only / e UHTRT

4. light and sound / U TR T &

Correct Answer :-

« heat and light / &SHT YT URTRT

19) In desert plants, rate of water loss gets reduced due to the presence of: / IR & e ﬁ, S g P&
SUD! SUITA & BRI HH g1 Wt 3

1. Suberin / ﬂaﬁ_’f

2. Cuticle /a{ﬂ%w
3. Lignin / SIPE

4. Stomata / 3Y

Correct Answer :-

« Cuticle / ERI%W

20) The energy in the reactor of a nuclear power station is produced by the process of: / TP el §UT &

Ruger ¥ Suil A ufrar S AT ST BT &
1. Nuclear absorption / BT fa=IYT

2. Nuclear fission /e 1T faee

3. Nuclear emission / TTH® T SeToi

4. Nuclear fusion / DT T

Correct Answer :-

« Nuclear fission / AMYBIT faG ST

21) While reading a book, the minimum distance required between the book and the eye is: / Wmﬁ ua?r qHY,
TEI 3R 3@ S diY Sraxgs e g il 8

1. 50 cm / 50 TH
2.20 cm /20 IHT
3. 12 cm/ 12 99t

4,25 cm /25 A

(31)



Correct Answer :-

e 25cm/25 9H

22) Mosses are bryophytes are characterized by: / wm, m ﬁ% %', S m W?Iﬁ' SIGH %
1. Dominant sporophytic phase / YTt @ﬂtﬂg‘%ﬂ; EIEE

2. Unicellular sex organs / mﬁ’q W 3T

3. Heterotrophic mode of nutrition / Y90 T RUITYT Al

4. Dominant gametophytic phase /um?ﬂﬁﬁawﬁa?maw

Correct Answer :-

« Dominant gametophytic phase / UHTd! THEIBISCH UGl
23) Diabetes is characterized by: /Fﬂ'ﬁ’e’ & AL &

1. Scanty urination / ®H BRI

2. Loss of appetite and fatigue / H{¥ &I 3R YBH

3. No urination /frsna ERSIGIH

4. Frequent urination and unusual thirst/'éTTQ'EIRI}-'MT?qr 3R ST @

Correct Answer :-

» Frequent urination and unusual thirst / IRER U 3R SRTHRT &

24) Which one of the following statements is NOT true for a rhombus? / T GUagys & fore Fafafaa
FYF A T D19 1 TP TSI T8l 82

1. All sides are equal. /i YSITg T B

2. The opposite angles are equal. /ﬁqﬂﬁ PI0T A aﬁ %I

3. The diagonals bisect each other at right angles. / faeut Uh @;\f P GHHIU R HIed %l
4. The adjacent angles are not supplementary. / 3{THJ D07 U @3{ & U TRl gl %I

Correct Answer :-

« The adjacent angles are not supplementary. / 3{T¥ HI0 TH g(-l.Q & PREZ TeI 8 %I

25) When @ * (x—3) = x3 - 4x2 + x + 6, then @ = /TE@  (x-3)=x3-4x2 + X + 6, T9 @

1.x2-x-2

2.x2-x+2
(32)



3.x24+x+2
4.x2+x-2

Correct Answer :-

26) Deep pits on the surface of the moon arecalled __ . / I-HI Ed| de ® TI'@Q‘ TI%' ﬁﬁlﬁ %l
1. volcanoes / Eﬂl’ﬂ@

2. rocks / X

3. craters / She

4. boulders / TTIETRH

Correct Answer :-

o craters / Py

27) A flower with both male and female reproductive parts is called a AL forgw = 9ur HIal
ST T ST R §, Hedrar gl
1. bisexual flower / SHAT gy

2. pistillate flower / WE&I

3. staminate flower / GaheRl &I
4. unisexual flower / Thfei gy

Correct Answer :-

« bisexual flower / SHITCIT gy

28) Cube root of -27 * 2744 is: | -27 x 2744 T T &
1. 42

2.-42

3,21

4.21

Correct Answer :-

. 42
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One of the below mentioned calamities is not a natural one. Identify it. / ﬁl’H b= | Th 3TUGI Wﬁﬁ? gl "-I'&pf
?1 39 ygafUl

1. Deforestation for urbanization / TGIhUT %mﬂw
2. Drought / T
3. Earthquakes / §hU

4, Floods dla/

Correct Answer :-

» Deforestation for urbanization / -‘QIER“IGPQUI & ﬁl'q d"l\l'*j\Q'I"l

30) The present population of a village is 28000. If it increases at the rate of 5% per annum, population after
2 years will be: / T® Tid Pt TAH SIFHSIT 28000 g1 Afc 8 5% Ufaay ©1 3 T ggdt ¢ df 2 a9l a1g
S g

1. 31000
2.30820
3.30870
4. 30800

Correct Answer :-

» 30870

(34)



